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Ail'questions .u..y eq"ui marks

1.a) A cricl<et Llall thrown reaches ii rnaximunl height o1'9 m ancl l,alls on the ground
at a distar.ice of 2-5 rr fl'onr the point of pro.jection. Draw tl-re path of the ball.
What is tlre altsle ol'projection?

br Draw l re,'niei rc,,le oi rnetres when I rnr)) represents 25 cm and lnark on it a
length of 24.4 cm .nd 23. I mm. whar is the RF? L7+gl

OR
2' A circle of rtrO mm diatttcter rolls alons a straight Iine lvithor-rt slippin-r, I)raw,the

curve traced by a point on the circumference. lbr
at Orrc ('()lnl)lctc r.ci olrrlion urrtl
bt Olre atlr-l ;"r Itlll't'ertllrttion:'ol'lltc cilclc. Nirnrc the ctrrrc. Drlrw r-r rror.rnal a,d
tangent ro the clu've at a poirrt 25 mrn frorn the straight line . t7+gl

3'a) A iine MN 50 mm long is parailel to VP and inclined at 300 ro Hp. The end M rs
20 mm abor''e I-lP and I0 mm in front of VP. Drau, the projecrions of tl-re Iine.bl An clct'tric bLrlh i: l'ixcd ecnrrelll on a r,rull 5o c.rn tl.,'rrrr thc.clting. ine ilail i,
4 nr long and 3 m hish. A switch for the bulb is located in a corner with the
acl.iacent wlill and is l.-5 It-t itbove the floor'. Drarv the pro.jections of the centres
of tl're bLrlb and the switch ancl fincl the true distance between thern. Use suitablescale. 

t7+gl
OR

A line 75 nlll long is inilinecl at 500 to VP anr,l one ot- the encls is on it. It is
pzrrallel to IlP ancl'10 ttttrt belorv it.'l'he line is behincl VP. Draw its projections.
Two pegs. A ancl B. are l'ixecl on a u,all. Peg A is 1.5 nr abovc thc floor while
peg B is -l m above tl-rc floor. 11' the clistancc between the two pegs measurecl
parallel to thc floor is 2 m, draw the prdections of the pegs ancl find the rrue
distance between the pegs. Use a sLrrtable scale. t7+gl

A hexagonal pyrarnicl. with 25 n.rrn edge of .base and 60 mm long slant edges
has one of lts triangular fiices inclined at 300 to the Vp while the edee of the
base within that face is paraliel to the VP anci inclined ar J5" to thc Iip. o.r*
its projections.
A cLrbe of 50 nlttt lottg eriges is resting on the HP with il vertical f'ace inciined
at 300 ro rhe VP. Ir is cut bl, a section [1.n.. p..p.nal.ur"i r" irr.-vp: i;.i;; 

",300 to the HP and passing through a point on ih. axis, 3t3 mnr iibove the Hp.
Draw the sectional top view, true shape of the section.

OR

...'ti),

[7+8]

'"4:a)

b)

5.a)



6.a) A f}usturn of' a cone, 60 mrn cliametel at its base, 30 mrn cliermeter at the top,
and -50 mrn hi-eh, has its axis inclined iit 300 to the HP ancl the base inclined at

b) A c1'linder. 6-5 rnm diameter ancl 90 mrn lon-e, lras its axis parallel to the H.p.
and inclinecl at 300 to the V.P. It is cLrt by a vJrtical section plane in such a rvav
that the true shape of the section is an ellipse having the ma.jor axis 7-5 mm
long. Drau'its sectiot-tal front vier,v ancl tnre shape of the section. l7+81

1.'a) Draw the derelopnrent of the surfuce o1'the portion of the hexagonal prism
having trvo faces perpendicular to the V.P., front view as shown belorv figure l.
Each block in the figure represents lcm2.

b)

8.

9.

A vertical cylinder of cliatreter 120 nrm is l'ully penetrated by a cylinder of
diameter 90 mrn, theil axes intersecting each other. The axis ofj the penetrating
cylinder is inclined at 301) to the HP ancl is palallel to the VP. Draw ihe top ancl
front views of the cylindr'r's and thc curves ot'inter.section. t7+gl

OR
A cone with 100 rnn-r base cliameter ancl a 100 mnr long axis is resting on its
base. A square hole with 3.5 rrrr sicles is cLrt tl'irough the cone so that the axis of
the hole is perpenclicular to the VP. 2-5 mm above the base of the cone, and
10 mrr ltllay flom the axis of the cone, Draw the dcvelopment of the lateral
surllrcc o1'tlte col1g il'thc siclr l'ucc: ol'tlre hrlle ar.e cqLralll incliucd to the Hp

tl sl

Draw the isonlett'ic view of'the lbllowing figLrre 2. All climensions are in rnrn.
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I)raw'the istltttctt-ic r.'ierv of the firllolvingfigLrre 3. AII clirnensions ilre in r1m,

lt-sl
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